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— Q2| AHIOIE eIl 400,000 28t T 800,000 &
— & HE AU, GOt 12,0008 x10H+42] 480,000 &
— 3% el = AHHl 10,000& x40 *62] 2,400,000 &
— &% 2l W= 2+AH] 2,0003 40263 480,000 &
S& el 1| ZALZ 75,000 x4 H«43] 1,200,000 &
S& 2l 1= ME =44l 250,000& 42] 1,000,000 &
@ MEta Nz Tz I MET#
— GlIHI 2 A D= A £ 0f 2HAIH] 2,000&+500E+23 2,000,000 &
—Hl&%E 22 500,000 %28 ] 1,000,000 &
— 2| ELIAHE = 50002+4085*12)4 = 2,400,000 &
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o = 202281 AT | 202181 H9E = ot
= olare | 4XtEY olare =2 MED 29
o g = (A) (8) (A8)
—HAES 8E 79 200,0002 63 1,200,000 &
— B BUIIC 5,0002%2,0000H 10,000,000 &
— ®XIQIX| 60CH*100,0002 6,000,000 &
— KIEEJ] 3TH*1,000,0002 3,000,000 2
— W& D 2004+400,0002 8,000,000 &
— MER 0T} 5074%80,0002 4,000,000 2
© 4B X2 T2 9 MBI
— QAN AR| APEE 2FAIH| 2,000 2502 %251 1,000,000 &
— QA A2 FEFAE 2RI 100,000 %2 Al 2H+20 24,000,000 &
© M4BT X2 T2 Y MBI
— XIS 0H3| AlCHHI 10,0002 %300 %23 6,000,000 &
— IS5 AZHl 10,0002%100 23] 2,000,000 &
® JISA B 29 A
— HIGIZ A 9007H%10,0002 23] 18,000,000 &
— OHE2IA B4 1,835J%12,0008 22,020,000 &
— NIEI] LIS & A 260H*100,0002 2,600,000 &
— HHAEIS, QAEFS HA 947445,0002%251 )| 8,460,000 2
— SAIZMI| 4IHIZ 180,0008+120 2 2,160,000 &
— SAZMYD| 22IS 250,00081*207 5,000,000 &
— OIZ2 HIE 1504 E%20,0008 3,000,000 &
© Mg otd T2
— AgE R 2HAIH| 500,0008 %25t ] 1,000,000 &
— MEAME DS ZAIR 75,0002 x2 Al 2H+3 2 *63] 2,700,000 &
~ MEAME DS IHSEZQ2H| 15,0008 *2A] 2Hx 180,000 &
— MEAME DS ADEH| 300,000 +63] 1,800,000 2
— MEAME DS A 10,0002 15263 900,000 &
© SAMED Y DT
— AEFEHIOIZ 2AIR 75,0002 ¥2 Al 2412255254 3,600,000 &
— AEFEHIOIZ AlCHYI 10,0002 *20% %28t )] 400,000 &
—AUB S OHSI| TR I 2ALE 75,0002 %33+ 4,500,000 &
— 2125 2 0hsJ| T2 3 AlGIH| 10,0002 x202 4 400,000 &
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Z=Al-M2l=8! 4,000,000
@ st A=< X2
— =M =& 10Z+100,000&

@ QP A CH
o T o

— =Al-M2I=8 19,000,000

— EAI-=Jt2% 8,000,000

— =g 1,000,000

— &= =2 30Bx1AIZE*100,000&
© Eot==4

— =AM 2l=2 130,000,000

— &A-FIt28 24,000,000

— &2 11,000,000

_|
ol
.{

M

— G0t =& HEPH 10H*100.000&

4,000,000

1,000,000

19,000,000
8,000,000
1,000,000
3,000,000

130,000,000
24,000,000
11,000,000

1,000,000

= 202281 AT | 202181 H9E = roron
= olare | 4XtEY olare . MED 29
o g = (A) (8) (A8)

— O DI UE LA 75,0002 +2AI 2103 %25 3,000,000 &

— OIS UE ATHYI 10,00081%202 25t )| 400,000 &

— G5lR OIS M ZEHRI Y 13,0002 20 63 1,560,000 &

— 94512 DHLE= A& AICHBI 10,0002 +20 2 *63] 1,200,000 &

— 5209 24 ATHBI 10,0008 %362 43| x28¢D)] 2,880,000 &

— &209] 2ICI4) 2HAIH| 80,0002 %254 160,000 2

— 22CHE 29 AlTHl 10,0002 40 *63] 2,400,000 &

— 2248 BASE 200,0008+63] 1,200,000 &

—JISL ANE S FHEY ST BAE 75,0002 900,000 &

—JISD AN PG FHER ST AL 10,0002 3,000,000 &

—JISL ANE S FLER ST DI 5,0002 380,000 &

® CHSHRID| AL SHA4 = X LK 2

— 20IS SEA WM, NEU ST 2222lH| 600 5,400,000 &

— 23S SRARE T2H| 1,000,0002+5)H S 5,000,000 2

— 2515 F4I| K2 422/Hl 200,0002 124 2 2,400,000 &
8:  1,017,625,000 &

TNEE 1,244,400 1,276,701 £32,301
4331 555,000 576,520 A21,520
IS ® EM+Y

el

&

&
%
&
!

%
&
!
&
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20223 HH T | 20218 HHT

= =L = A2H0H _
= 0f &t AXt=Z Ofl &H ARy MEZH = %
2 g = (A) (8) S

— It =& 4,88 &I 60&+200,000& + =] « 21,000,000 &

© FEH|- A

— =Al-J2I=2l 100,000,000 100,000,000 &

— ZAI-=Jt28 70,000,000 70,000,000 &

— &g 15,000,000 15,000,000 &

— &l - M =g M| 25F%55]%200,000& + =] 34,000,000 &

© dgotli+=¢

— =AM 2=2 60,000,000 60,000,000 &

— dAI-=IJt2% 29,000,000 29,000,000 #

— E2l 3,000,000 3,000,000 &

® 3o+=g

— =Al-Mel=8! 5,000,000 5,000,000 &

— 8 AI-F=Jt2& 4,000,000 4,000,000 &

— 2|9 =& M| 156H+35]%200,000& + =J| 15F~ 12,000,000 &
gl 555,000,000 &

4332 689,400 700,181 210,781
2 AIZHI @ u-Eest Y S22

— g AIEE3l 30,000,000 30,000,000 #

— g YSEE8E 3] 20,000,000 20,000,000 #

— =AI®HE &I 2 234l 16,000,000 16,000,000 &

— A& FE I € 234l 10,000,000 10,000,000 &

—&d2& X &1 20,000,000 20,000,000 &

— EBSW &0

— g4, X&&1 15,000,000 15,000,000 &

—BiXIE, &85 &1 20,000,000 20,000,000 &

—st=2Ew=Eg2lsl, Jlet& 1] 20,000,000 20,000,000 &

® 39y

—2r d&g && 4,000,000 4,000,000 &

—StUESgdd && 5,000,000 5,000,000 &

—og 2 AIDA 22HMEH 2,000,000 2,000,000 &

— WALAH2 H3l 2] 500,000 500,000 &

O e e =

— 282 AIIMH 2 25 13,000,000 13,000,000 &

— 2 AH BHE 15,000,000 15,000,000 &
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= 20228001 | 20213199 | .o
=ooare 4R olary [ SO A& 2o

2 g = (A) (8) S
— AR M 10,000,000 10,000,000 &
CEEE RN
— stz T2 08 RX 24 30,000,000 30,000,000 &
— &JI8% 212+ 5,000,000 5,000,000 &
— AMES 242 120,000,000 120,000,000 &
— JIEF AR 2131 2,500,000 2,500,000 2
— SRS HBEIIAIAE 6,000,000 6,000,000 &
© A HYUs D& ol
— 2 Al2& 22 60,000,000 60,000,000 &
— 2 A AH 3,000,000 3,000,000 &
— 2AIFEQAEE T 3,000,000 3,000,000 &
~ HAIRE R 45,000,000 45,000,000 &
— HAIZAE 1,000,000 1,000,000 &
— FAIFESAFE X 3,000,000 3,000,000 &
— BYUPER 7,000,000 7,000,000 2
— BYFQAE X 2,000,000 2,000,000 2
— JIEFQIAHI 14,000,000 14,000,000 2
®© =22
— 272 2,400,000 2,400,000 &
®© A2 EH|
— 2AIA2E 12,000,000 12,000,000 &
— HAIA2E 10,000,000 10,000,000 &
— BADE 3,000,000 3,000,000 &
— JIEIA2E 1,000,000 1,000,000 &
OEE={=r=
~ SER2 2,000,000 2,000,000 &
~ £412:2 3,500,000 3,500,000 &
— N&AIZ 2222 15,000,000 15,000,000 &
® At
— 2 AIAH % 2FA! 30,000,000 30,000,000 &
— MAIAH] 2 2HA! 12,000,000 12,000,000 2
— BQUAH| Y 24! 1,000,000 1,000,000 &
— JIEFALHI 5,000,000 5,000,000 &
© 252 & 0l A 201 Y|
— Al 22 5,000,000 5,000,000 &
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o = 20223 ST | 20213 HQE N
. 2oar [4XiEY oAy Tl AE2A 2 o
2 g = (A) (B)
— MADD 22 5,000,000 5,000,000 &
— B2 82 3,000,000 3,000,000 &
—HEY HY3|, 225l S oHI10I0 2 *5,000,000 50,000,000 &
® =iz
— Z=Xt2 300,000 300,000 &
® Al&AIRE
— QI5tM E J|D+ AEAFEE 18,000,000 18,000,000 &
— 29 ul-g, E812 S 4,000,000 4,000,000 &
® EY UBIME 435]%800,0008 + It & & 43 5,200,000 &
Bl 689,400,000 &
4400 DSLHIE 1,001 4,253 A3,252
4410 XIZ20I Xt - 1 A1
4411 - 1 A1
XIZ20I Xt
8H: - @
4420 J|EtDSHIE 1,001 4,252 A3,251
4421 1,001 4,252 A3,251
Eh Al ® FZzal
— JIEF &&4! 1,000,000 1,000,000 &
® B2=X 1,000 1,000 &
Bl 1,001,000 &
4500 =2 _ _ —
4510 ME2 _ _ —
4515 _ — _
SYHIHFME2
gl - &
4516 - _ —
DUHEE2
B A: -
4600 OilHIHI 54,998 42 572 12,426
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o = 20223/ HHE | 202131 HSE = ;o
2 oolare | AXEY olare Taoy B2 2
o g = (A) (8) Gy
4610 Of[HIH] 54,998 42,572 12,426
4611 54,998 42,572 12,426
L] ® D12 HstHIS= 23120 ofull 22l bt : 33, 33,998,000 2
® D12 S RHIS= 23302 olull 22l bl : 3 3,000,000 &
@I NSBM DRSS olbibizel ol 3,000,000 &
® JI=H oste g S s olull2el bl 3,0 3,000,000 &
@ JIEH WA SRS ofulyI=2l bl : 3 3,000,000 &
® 1=K JISAFS S oibibI2el oibll : 3,000 3,000,000 &
®© D12 MO BMDSASHSIH oltlb2el oy 3,000,000 &
OPIEPEVET-PIEYESE LD IR TE 3,000,000 &
BHAI: 54,998,000 &
1200 EXPIEIRATNI S 13,671,737 | 16,043,095 | 2,371,358
1220 EXALAXIZ 100,000 189,000 189,000
1221 - - -
SXNRINISANA
1224 - - -
S DIIYEXN S
8ll: -
1229 100,000 189,000 289,000
JIEFE R R & ® JEIER XA X2
—AHAH YRS 42 50,000,000 50,000,000 &
® JEIER XA X2
B EZ £ 50,000,000 50,000,000 &
BHII: 100,000,000 &
1240 JIEFXHAT X & 92.000 1,024,831 | ~1,132,831
1242 - - -
ANBEZNE
B8HI: -
1243 - - -
SV IEINE
B8HiI: -
1249 92,000 1,004,831 | 71,132,831
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o = 20225 H OIS | 20218 A0S = ;o
- 2 0ARM | 4XEE Ol At Tk AE2H 29
2 g = (A) (B)
JIEFRHA X & ® DEAST2EXE M2 = 92,000,000 92,000,000 ¢
BHI: 92,000,000 &
1250 422 =)= =g - - -
1252 - - -
=) I2HY
BHI: - g
1253 - - -
AIHUEHZI|2HEY
BHI: - g
1254 - - -
=R 2
BHI: - g
1255 - - -
o ESH2R) Y
BHI: - g
1260 Yo == & 13,479,737 14,629,264 A~ 1,149,527
1262 126,700 88,000 38,700
ooy 2R 2 olojpipy|2Re
—0IXt 114,000,000 114,000,000 &
—HBEOINEZ M 12,700,000 12,700,000 &
BHI: 126,700,000 &
1263 9,642,000 1,930,326 7.711.674
oo|A=I |2 ® Ao A=I|ZHE
—0I Xt 563,000,000 563,000,000 &
— 2O EZH 79,000,000 79,000,000
—==25) H222I}AZHH] 9,000,000,0002 9,000,000,000 &
BHI: 9,642,000,000 &
1264 221,900 222.700 ~800
olo| A& |2 M2 ©® Qo|&5H)| 2R 2l
—0I Xt 1,500,000 1,500,000 &
— M 2Ol A B2 400,000 400,000 &
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Jo

20223 A H

20213 HH

= olare | 4XtEY olare o) MED 29
o g = (A) (8) S
© 2o/FaD|= ®a 220,000,0008 IS 22, 0/ 220,000,000 &
8Hil: 221,900,000 %
SEEESPIEEES
8l: -
3,489,137 | 12,388,238 | ~8,899,101
= ® UASHSHI|ISHY_=XII2HE
—0I Xt 1,400,000 1,400,000 &
—HZHOIH B2 20,0002 20,000 &
® YSHSNISHY_SPENSII2
—O0I X} 22,500,000 22,500,000 &
—~HSEOINIBZ A 2,950,0002 2,950,000 &
® YolsSH=HI|2HY & X IHE 365,003,000 365,008,000 &
® YSHSNI|ISHY_NSOITeIEE
—0l X} 455,000,0002 455,000,000 2
—~H 2 OINIBZ % 42,000,0002 42,000,000 &
—HIS238H YASHSHII2 DR TS X 2,600,264,000 &
8:  3,480,137,000 &
= oI 41,996,973 2,589,268 39,407,705
SEDINAMNYRE 41,996,973 2,589,268 39,407,705
1 - 1
® BF2EX 1,000 1,000 2
8l: 1,000 #
1 1 -
® H2EZ 1,000 1,000 &
8hll: 1,000 &
1 1 -
2S04 ® BH2EX 1,000 1,000 &
8l 1,000 &
1,824,970 2,409,562 584,612
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o = 202281 AT | 202181 H9E = roron
= olare | 4XtEY olare . MED 29
o g = (A) (8) (A8)
P BIENETT © HEtE AT AAY DI HDI2E 2 IE2 £ 670,000, 670,000,000 &
© CHEtS AT /ALY DI HDI RS2 IIEIRE 1,064,97 1,064,970,000 &
MEBH NS T2 Y M
— 21FEA 27 900H*1,000,0008 90,000,000 &
8J:|  1,824,970,000 #
1315 144,000 104,684 39,316
=SBIIEE= TN © THatS AT R AF! EDIHIZ &2 IIEFR S 84,000,C 84,000,000 &
® J12217 04 10,000,000 10,000,000 &
® TS Wit 50,000,000 1) 50,000,000 &
8ll: 144,000,000 &
1316 28,000 28,000 -
A2 R Yl ® X2 T 01 28,000,000 28,000,000 2
8Hll: 28,000,000 &
1317 - 47,000 A47,000
ST
8HII: -
1318 - - -
e
8Hll: - #
1319 40,000,000 - 40,000,000
AL ® DS JI=THA #E(A42 S) 40,000,000,0001  40,000,000,000
8:|  40,000,000,000 %
2200 1% S AL & 1,408,000 80,001 1,327,999
2210 ZO[ XA A8 - 1 N
2221 - 1 A
BRI A
8ll: - =
2220 JIEI D E S AL 8 1,408,000 80,000 1,328,000

52/53




ot = 20225 IS | 20213 HE = A oron
= 0l Ao AXIEY Gl A AN &2 2o
2 & (A) (8) S
2221 1,408,000 80,000 1,328,000
Apes2az ® AAH UHEE2 pHe 50,000,000 2
® BHAICHErY Tl ) ,358,000,0002 1,358,000,000 &
BHI: 1,408,000,000
2229 - - -
JIEIDH
BHI: - 2
X = XN = 8 103,978,500 70,849,399 33,129,101
INESSINERNEN - - -
1100 DL S S KA 10,000 = 10,000
1110 10,000 - 10,000
Ssx2 2 10,000,000 10,000,000 &
BHI: 10,000,000 &
1120 - - -
JIEIRSX
BHI: -2
2100 D] HS =25y 210,000 — 210,000
2120 - - -
ol =2
BHI: -2
2130 ~10,000 - ~10,000
Saz -10,000,0002! ~10,000,000 2
BHI: 210,000,000 ¢
2140 - - -
JIEI RS
BHI: - g
X = XA = = 103,978,500 70,849,399 33,129,101
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